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CTS PAPER ON 3rd MARCH 2008

Hi, this is Sudipta Saha from JIS College of Engineering. We had our first campus interview in 3rd March 2008. We are glad to have a company like Cognizant in our college. I would like to express my experience, in brief. 

Selection procedure was first with aptitude test and then Personal Interview. In personal interview, most of us faced mainly technical questions and little bit HR questions. My interview was like this. 

I entered the room and said, “Good afternoon sir.”
He not even looked at me and told me to take my seat. Then he said, “Before I ask you some question may I have your introduction?”
I gave a brief introduction.
Then he straightly entered the technical part. He asked, “Which subjects, you think, you are strong?”
I said, “I know C and core java”.
“Any other?”
“I know data structure.”
“You have passed 5 semesters and know only 3 subjects?”
“I had a good preparation of operating system. But during the last 2 months I was busy on preparing only these 3 subjects. So, I don’t think I can recall OS right now.”
Then he asked me some C questions.
“Difference between structure and union.”

Answered. 

He showed me a C coding. A union contains an int, a float, a char array and initialized by 2, 4.5, “Hello World\n” respectively. He asked me what would be the output if we try to print all the variables. I answered confidently. But later I came to know that I was wrong.
He asked me “difference between call-by-value and call-by-reference”
Once again he showed me a C coding regarding this topic and asked for the output. I answered.
Then I faced some java questions.
“What are encapsulation, inheritance, and polymorphism? How does java support these?” 

Answered. 

“Write a java coding where a class implements an interface.”
I wrote.
“What will happen if there are two classes A and B contain an instance variable p and if a third class C inherits other two classes and try to access the variable p?”
I said, “It is a multiple inheritance concept. And java does not support it.”
He said, “I want the generalized concept.”
I said, “I only know what java supports.”
Then there were some data-structure questions.
He wrote an infix expression and told me to convert it to postfix.
I did it.
He showed me a tree and asked me whether it was binary search tree. I said “no” and explained the reason. He asked me to convert it to binary search tree using post ordered traversal. 
His last question was “what is hash table?”
I said, “I don’t know.”
Then he said, “Well, you can go.”
I lend my hand for handshake. 

After 5 hours, names were announced. There were 163 students who get selected. I was one of them. 

What I realized that they don’t want you to answer all the technical questions correctly. What they want is that you should not remain silence. They may ask you some little bit conceptual and competitively tough questions to break you somehow but you must not loose your confidence and you have done your job. Try to express your body language as much as possible and speak clear and fluent English. You are selected. 
 ---------

CTS PAPER ON 21st MARCH 2008

Hi! This is Akshay Hangarge (3rd year electrical) student from Walchand college of engineering,sangli placed in the world's fastest growing company COGNIZANT.I am very glad to be a part of CTS family.With no waste of time let's discuss the selection procedure .

Total attended = 320

Cleared Aptitude = 112

Selected = 50 

The selection process consists of two rounds 

(1) Written test

(2) Technical + HR round

 

Written test consists of three sections 

VERBAL SECTION (25 questions-25min)
(1-10) comprehension (passages r too long)

(11-15) find the incorrect sentences

(16-20) find the correct sentences

(21-25) arrange the jumbled sentences

 

This is a quiet tough section. Just make guesses. Mark option B or C.Always read passage at last.Read questions first.

 

ANALTICAL SECTION (25 questions-30min) 

(1-5) Venn diagram 

A group is divided into three. The first group is persons of 5'6 height and second and third r 6'0 and 6'6 respectively. There r totally 130 peoples, 50 of them r 5'6 and 65 of them r 6'6, 10 of them r 5'6 and 6'6, 15 of them r 5'6 and 6, 20 of them r 6'6 and 6, and 5 of them r all the three.

(1) How many of them r 6 feet? (Ans 70)

(2) How many of them r only 6 feet? (Ans 30)

(3) How many of them are only 5’6? (Ans 20)

(4) How many of them are only 6’6? (Ans 30)

(5) How many of them are at least two? (Ans 50) 

Important formula in Venn diagram is

EXACTLY ONE = TOTAL - EXACTLY TWO - ALL THREE 

(6-10) quantitative questions 

Questions on Blood relations(quite difficult)  

Other questions r from profit loss and other general questions. Sorry I don’t remember 

(11-15) data sufficiency--Very easy one

(16-20) binary conversion

Please don’t read anything in the question. Just change any value to binary and convert that 1 to $ and 0 to *.

(Eg) LCM of (12 15 10) (ans 60 = 111100 = $$$$**)

(21-25) cubes

Questions like :if a dice is thrown 2 on top,3&5 at left &right,in another turn 5 on top,3&4 at left&right and one another condition(dont remember exactly) 

21-25 What is opposite to 5?..... 

NON VERBAL SECTION (20 questions-20 min) 

(1-4) syllogism (study all rules in the aggarwal book but TIME book will help u a lot) 

(Eg) All mosquitoes’ are lizards. 

All lizards are insects. 

(Ans: all mosquitoes’ are insects) 

(5-6) logical deduction (study all rules from TIME book) 

(7-15) figure sequence and odd one out from figures (very easy)(just go through R S Agarwal) 

(16-17) Seating arrangement 

(18-20) logical puzzle 

 

After two hours the sortlist was declared by them .I was almost sure that I would be clearing the aptitude. 

 

HR + TECHNICAL INTERVIEW (please write carefully your HR form) 

Be confident at the time of interview and maintain smile on your face.First ly i was tensed bcoz my technical was not so good & all the panelyst were MTech. Elect. from IIT. 

 

INTERVIEWER: Hello Akshay! 

Me: Good Afternoon Sir. 

INTERVIEWER: Good afternoon.Please be sitted. 

Me: Thank you, Sir . 

INTERVIEWER: Tell me about yourself? 

Me: Told(academic).......Apart from studies bckgrnd I am also a good sportsman .I led under 14 cricket team of latur district and got runner -up prize for Kho-Kho cometition. 

INTERVIEWER: Are you a player of your college team? 

Me: No Sir,Only last year students are allowed to play in the team. 

INTERVIEWER: Were you a part of your college's annul social gathering sports? 

Me: Yes Sir, I was captain of the T.E Trical Cricket team. 

INTERVIEWER: What role did you play in it? 

Me: I was the opening batsman and also the WC in team who has responsibility of heading the team. 

INTERVIEWER: What do you expect from CTS? 

Me: My whole knowledge and skills should be utilised by CTS.There should be great environment. 

INTERVIEWER: Have you appeared for TCS and Infy.? 

Me: No,Sir.Waiting for CTS. 

INTERVIEWER: Why CTS? 

Me: As it is world's fastest growing company it is growing exponentially, I am also fast in my life.CTS and My principles match exactly,that's why CTS. 

INTERVIEWER: As you are fast, tell me five things about microprocessor very fast 

Me: Told.....confidently and surely but fastly 

INTERVIEWER: Tell me 5 applications of OP-AMP? 

Me: Told....(they check confidence)(when i gave 3 he said 1 just for checking confidence. 

INTERVIEWER: Which is your favourite subject? 

Me: Power System 

INTERVIEWER :I have conducted interview of 5 electrical student all have same favourite subject ,Why? 

Me: I don't know about them but as per my opinion everything in Power system is visible lively. 

INTERVIEWER: What is skin effect,corona............?Have you seen it? 

Me: Explained .. 

INTERVIEWER: What did you get from Linear Control Systems? 

Me: Answered.. 

INTERVIEWER: Do you have any question? 

Me: Sir,I have one more year to complete my course What do you expect me to do in thisone year to fit into CTS 

INTERVIEWER: If selected no need to do anything.You just be cleared with your basics. 

Me: Thank You, Sir 

INTERVIEWER: Wait for the result. 

Me: Thank You,Sir and HAPPY HOLI 

                                         

I WAS ALMOST SURE THAT I WOULD BE THE AMONG THE  PLACED.PLEASE BE CONFIDENT.

Paper Type     : Whole Testpaper 

 Test Date        : 11  March  2008  

 Test Location  : Govt coll of Eng,Thirunelveli 

 Posted By        : Uma Sudha

CTS PAPER ON 11th MARCH 2008 

Hi, I m UmaSudha final year B.E C.S.E from P.R.Engineering College.Thanjore.I m very happy to say tat  I m selected in COGNIZANT (Passion to make Difference) It was the Anna University OFF CAMPUS (TNSLPP)…. 65 COLLEGES PARTICIPATED.

Total attended = 1,333

Cleared Written = 238

Selected = 28(15 boys 13 girls) 

It was a shock that they selected only 28 from 1,333 and I’m really happy tat I am one among that few.

Two Rounds: 

1.Written test.

2.Interview. (Tech n HR)

           

The Merit Track conducted the test. It was organized perfectly and they expect discipline from us.. Before the test u have to fill a form. Do it carefully because some of my friends got questions 4m tat.

1.Software Orientation:
2.Hobbies and extra-curricular activities
3.Strengths and Weakness
4.Expectation from CTS
5.Why CTS
6. Long term and short-term goal with CTS
7.What are the qualities necessary for software professional to be successful

WRITTEN TEST (3 sections) NO –VE MARKING 

1.Analytical Ability (25 Q, 30 Minutes)
Venn diagram questions
Data sufficiency
coding 1 represented as $ and 0 as *(easy.. jus convert it into Binary)
Cubes related questions are very important

 

My suggestion is do Coding First. Then Venn dig. Cube problem n others..u can surely score full marks fm coding n venn dig…cube is also easy when u understand it.For cube take the cubic root of the no of pieces.64 means 4(keep as x value)..then 2 side painted means   12*(x-2).1side painted means 6*(x-2) 2 .  (horizontal n vertical) like wise u must think  n apply according to the question.. 

1.venn dig- people hving dif heights 6feet ,6’6 feet, 5’5 feet.and questions like no of people who is 6 feet.no of people who is 5’5feet….. 

2.In codin there will be only normal arithmetic operations n L.c.m..i don remember them. 

For ex..64/4= 16 = $****.first solve it n convert it to binary.. 

3.Cube- a cube of 12 cm is cut into small 3cm pieces..then place another 4 small cubes  over it..and another 2 small cubes over the 4cubes..then again one more cube over the 2 cube…the cube is then painted from top to bottom 

12/3=4…so 4row 4column…draw a dig of cube first. Imagining the cube only help u to solve rather than formulas. How many cubes r painted on only one side? 

how many cubes r painted on only 2 sides? 

how many cubes r painted on only 3 sides? 

how many cubes r painted on only 4 sides? 

how many cubes r painted 0 sides? 

(my friends told me tat cube problems hav more marks than other questions) 

2.Verbal Ability (20 Q, 20 Min) 

Comprehension 

Find out the incorrect sentence
Find out the correct sentence
Jumbled Passages
-Don prepare any thing for this ..It won help u..Jumbled sent n correct incorrect sent are a little confusing..it depends on ur grammer n English language skills.  do the comprehension last(it is a very big passage..i didn’t even read  it ,jus ticked..no time) 

3.Attention Details (20 Q, 20 Min) 

Find the odd man out
Analogy of figures (Simple)
syllogism 

Puzzle 

 

Very easy compared to other sections..any one can crack it with out any preparation..If u think to prepare jus go through puzzle test n syllogism from R.S.Agarwal Verbal reasoning 

Analogy of figures –Non verbal Reasoning 

Interview: 

Next Day My interview was at 4 .00 p.m.I was really exhausted at tat time in waiting from morning.  9 panels (approx 25 each). I went into the interview hall. He was reading something. 

Me: Good Evening sir.. 

He: (raised his head).Good eve.Sit down 

Me: Thank u sir 

He: again he started to read something.after 10 sec he asked “So u are Uma” 

Me: yes sir 

He: Tell me smthing abt urself 

Me: said. 

He: Tell abt ur project 

Me: Told abt the theme of project ,modules n everything I know.(as I m in the start of my final sem I don know my project in depth) 

He: wat language 

Me: C n Java

He: So,wat r u doing ,wat is  ur part in that. 

Me: (told frankly)Sir as I m in the start of my final sem I know only the concept.We are having one more month to complete it. So we are  still  learning things abt our project. 

He: k…(great relief for me).. u hav put tat u know C n C++. 

Me: Yes sir 

He: Tell abt Object Oriented Programming 

Me: Tld abt inheritance, abstraction, Encapsulation, polymorphism…. 

He: Tell all those things with an example program. 

Me: (Be Confident in whatever u say.. Even though u fear don show it in ur face)  Explained him all with examples… he interrupted me thrice and asked questions  frm wat I said. 

He: wat is Overloading and overriding…with eg program 

Me: Explained it with program 

He: wat is operator n function overloading its diffe 

Me: Explained 

He: wat is virtual ,Inline.. 

Me: Explnd (I bcame happy as I answd al of them..but my happiness didn’t last much time) 

He: k…Listen Carefully..I will give u a situation…(Oh!GodSave me).In a college Library they contain a set of books..and all the books are different..many professors will take those book now and then.. the books come from various places and he kept on saying…(I couldn’t understand al tat he said) tell wat concept of inheritance u implement in this situation.. 

Me: Multiple Inheritance…(tld quickly) 

He: hmm…Wat is the base n derived class in it… 

Me: Base class-Book….Derived class- professors 

He: wat is the relation n wat details each class contains…. 

Me: Base class contains the details of bookID,Authour…derived class contains the details abt professors…who hav last taken it.. date of return…and said something more abt the relations(not sure …) 

He: questioned from wat I said…. I answered two more questions..it was difficult. So I started to think… 

He: K…(Stoppd my thinking)..wat is ur goal n wat do u want to become 

Me: I want to become a senior s/w engineer and must have learnt so many things in my way of it…

He: hmm..Wat is the method

Me: it is a function-block of code etc…. 

HE: Why v have to use it.. wat is the reason 

Me: reduces complexity..if the pgm is like a paragraph it is not easy for user to understand…reduces length.. reusability…blah..blah.. 

He: k…write the declaration of  an array of pointer. 

Me: did 

He: K, apart frm ur curiculm hav u dne anyting in computer science 

Me: yes sir I hav dne paper presentation in Cryptography 

He: tell abt it 

Me: this is easy for me…I explained. 

He:  k..that’s al the questions from my side…Do u want to ask me any thing 

Me: how many months we will be provided the training.. 

He: answered and asked “If u are placed means are u comfortable to work in chennai” (tat is the clue tat I m placed..I got excited tat I m going to get selected) 

ME:  Yes sir I’m very much Comfortable to work there… 

He:  k..thank you 

Me: Thank u so much sir….. 

My interviewer was very very serious n  perfect in his work .He didn’t even gave me a smile.. My interview went for 30 minutes…for CSE n IT there will b only tech ques 

 

All that u have to do is be urself….don fear…n be frank  .they are very smart people.. so…never lie…answer confidently..u will get through it.Be thorough with everything u put in ur resume and ur project(project questions were asked in all the panels) At 5.30 they announced the result n my name was in the list. 

 

ALL THE BEST.DON LOSE HOPE..JUS KEEP  TRYING.. don worry for others comments and wat they say. They will never come along with u in ur life.I WISH  EVERY ONE WHO READ THIS PAPER WILL SOON GET SELECTED…. Hope this papr will help u.C U IN CTS. 

Regards, 

UMA

Test Paper :5


 Paper Type     : Whole Testpaper 

 Test Date        : 12  March  2008  

 Test Location  : GCE,Thirunalveli,Tamil Nadu 

 Posted By        : Vijay Anand. A

CTS PAPER ON 12th MARCH AT TAMIL NADU 

Hi.....i am VIJAY ANAND doing my final year BE (ECE) at Kamaraj College of engineering and technology (KCET), Tamil nadu.I got placed in CTS by state level placement program conducted by Anna University . First i thank this fresher’s world which is the key for my success.

 

The selection process consists of two rounds

(1) Written test

(2) Technical + HR round

 

Written test consists of three sections 

VERBAL SECTION (25 questions-25min)
(1-10) comprehension (passages r too long)

(11-15) find the incorrect sentences

(16-20) find the correct sentences

(21-25) arrange the jumbled sentences

 

This is a quiet tough section. Just make guesses. Mark option B or C.

 

ANALTICAL SECTION (25 questions-30min) 

(1-5) Venn diagram 

A group is divided into three. The first group is persons of 5'6 height and second and third r 6'0 and 6'6 respectively. There r totally 130 peoples, 50 of them r 5'6 and 65 of them r 6'6, 10 of them r 5'6 and 6'6, 15 of them r 5'6 and 6, 20 of them r 6'6 and 6, and 5 of them r all the three.

(1) How many of them r 6 feet? (Ans 70)

(2) How many of them r only 6 feet? (Ans 30)

(3) How many of them are only 5’6? (Ans 20)

(4) How many of them are only 6’6? (Ans 30)

(5) How many of them are at least two? (Ans 50)   

Important formula in Venn diagram is

EXACTLY ONE = TOTAL - EXACTLY TWO - ALL THREE   

(6-10) quantitative questions   

(6) There r five boxes. In the first box we put some chocolates. Each box the number of choc is reduced by 1/4. The last box contains 4.Then the number of choc in the first box is (Ans 1024)

  

Other questions r from profit loss and other general questions. Sorry I don’t remember   

(11-15) data sufficiency--Very easy one

(16-20) binary conversion

Please don’t read anything in the question. Just change any value to binary and convert that 1 to $ and 0 to *.

(Eg) LCM of (12 15 10) (ans 60 = 111100 = $$$$**)

(21-25) cubes

There is a building contractor. He designs a building such that
The base consists of 16 cubes

Above that in the middle of the base there r four cubes

Above this there r two cubes at the ad joint ends

Above that there is one cube

Now the whole building is painted with white

  

(21) How many are 0 face painted?

(22) How many are 1 face painted?

(23) How many are 2 face painted?

(24) How many are 3 face painted?

(25) How many are 4 face painted?

  

NON VERBAL SECTION (20 questions-20 min)   

(1-4) syllogism (study all rules in the aggarwal book but TIME book will help u a lot) 

(Eg) All mosquitoes’ are lizards. 

All lizards are insects. 

(Ans: all mosquitoes’ are insects) 

(5-6) logical deduction (study all rules from TIME book) 

(7-15) figure sequence and odd one out from figures (very easy) 

(16-17) Seating arrangement 

(18-20) logical puzzle 

  

Totally 1250 attended the campus interview. 258 were short listed for interview. My name was one of them.

  

INTERVIEW   

My interview was 30 min. I am from ECE stream. So I told to my HR that I don’t know anything about software. So generally we were talking. Be confident, u can defn crack the interview. For CSE and IT students there will be technical questions, you cannot escape.Finally, nearly 55 were selected. The pacakage is 3 lakh. 

 

Before going to attend the aptitude, please write the following things in a paper. There they will give one data sheet, u must fill these things up.   
(1)   semester marks from first to last individually 
(2)   software’s what u know (software orientation) 
(3)   your strength and weakness 
(4)   your short term and long term goal with CTS 
(5)   What are the qualities that an S/W engineer should have and how you will relate these qualities with u? 

  

For interview prepare these things
(1)   history of CTS
(2)   Why does u want to join CTS?
(3)   Studying ECE how u can join to software
(4)   About your final year project
(5)   How will you become a programmer
(6)   study C,C++,HTML,JAVA in a single line i.e. the concepts
(7)   tell about yourself   

 

Bye..take care

Sample questions

PAPER

 1. A says " the horse is not black".

    B says " the horse is either brown or grey."

    c says " the hoese is brown"

    At least one is telling truth and atleast one is lying. 

tell the  colour of horse.

 Answer : grey

 2. A son and father goes for boating in river upstream . 

After rowing for 1 mile son notices the hat of his fathe falling in the 

river. After 5 min. he tells his father that his hat has fallen. So they turn 

around and are able to pick the hat at the point from where they began boating 

 after 5 min. Tell the speed of river.

 Ans...6 miles/hr

 3  A+B+C+D=D+E+F+G=G+H+I=17  where each letter represent a 

 number from 1 to 9. Find out what does letter D and G represent if letter 

A=4.   

 ans.   D=5

        G=1

 4. Argentina had football team of 22 player of which 

captain is from Brazilian team and goalki from European team. For remainig 

 palayer they have picked 6 from argentinan and 14 from european. Now 

for a team of 11 they must have goalki and captain so out of 9 now they 

plan to select 3 from argentinian and 6 from European. Find out no. of 

methods avilable for it (2 marks)

 Ans : 160600( check out for right no. 6C3 * 14C6)

 5 Three thives were caught stealing sheep, mule and camel.

   A says " B had stolen sheep "

   C says " B had stolen mule"

   B says he had stolen nothing.

    the one who had stolen horse is speaking truth. the one 

who had stolen camel is lying . Tell  who had stolen what? (5 marks)

  ans. A- camel

      B- mule

      C- horse

 6  a group of friends  goes for dinner and gets bill of Rs 

2400 . Two of them says that they have forgotten their purse so 

remaining make an extra contribution of Rs 100 to pay up the bill. Tell the no. of 

 person in that group. (3 marks)

 Ans - 8 person

 7. In acolony there are some families. Each of them have 

 children but different in numbers.Following are conditions

    a no of adultno of sonsno of daughtersno of families.

    beach sister must have atleast one brother and should 

have at the most 1 sister. c no of children in one family exceeds the sum of no of 

 children in the rest families.Tell the no of families.(5 marks)

ans : 3 families

 8.There are 6 people W,H,M,C,G,F who are murderer , 

victim , judge ,  police, witness, hangman. There was no eye witness only 

 circumtancial witness. The murderer was sentenced to death.

 Read following statement and determine who is who.

 1. M knew both murderer and victim.

 2. Judge asked C to discribe murder incident.

 3. W was last to see F alive.

 4. Police found G at the murder site.

 5 H and W never met.

 ( 8 marks)

 The above mentioned questions are of 37 marks rest I don't 

 remember as they had no of condition. One which mentions about 

 hundustani music, Gazals ect. is tobe solved through venn diagram. Its of 8 

 marks. and another was grading 5 student which was of 5 marks.

There are 6 people W,H,M,C,G,F who are murderer , 

victim , judge , police, witness, hangman. There was no eye witness only 

 circumtancial witness. The murderer was sentenced to death.

 Read following statement and determine who is who.

 1. M knew both murderer and victim.

 2. Judge asked C to discribe murder incident.

 3. W was last to see F alive.

 4. Police found G at the murder site.

 5 H and W never met.

reply for MURDER PROBLEM:::::

C: witness

G: victim

W: hangman

F: murderer

M: judge

H: police

